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Questionl:-Which of the following are the conventional 'Moderate' methods?
(i) Press campaigns

(i) Numerous meetings and petitions

(iii) Big conferences

(iv) Violence

A:-Only (ii)

B:-Only (i & iii)

C:-Only (i, ii & iii)

D:-All the above (i, ii, iii & iv)
Correct Answer:- Option-C

Question2:-Which of the following was first suggested the Boycott of British goods?
(i) Krishnakumar Mitra's Sanjivani

(ii) Open Letter to Curzon

(iii) Motilal Ghosh's Amita Bazar Patrika

(iv) Rabindranath's Atmasakti

A:-Only (i)

B:-Only (ii)

C:-Only (i & ii)

D:-All the above (i, ii, iii & iv)
Correct Answer:- Option-A

Question3:-Who coined the term 'a continuing revolution' to characterize the efforts
to develop India?

(i) Bipan Chandra Pal
(ii) Bal Gangadhar Thilak
(iii) Bhagath Singh

(iv) Jawaharlal Nehru

A:-Only (iv)

B:-Only (ii)

C:-Only (iii)

D:-Only (i)

Correct Answer:- Option-A

Question4:-Of the following which were a major advance in the position of the



British Government.

(i) Mont-ford Reforms

(ii) The Cripps Proposals

(ili) Government of India Act of 1935
(iv) Indian Independence Act of 1947

A:-Only (iv)

B:-Only (ii)

C:-Only (iii)

D:-Only (i)

Correct Answer:- Option-B

Question5:-Which of the following is the city known as Panch Pahari?

(i) Magadha

(i) Patna

(iii) Rajgir

(iv) Kanauj
A:-Only (iv)
B:-Only (ii)
C:-Only (iii)
D:-Only (i)

Correct Answer:- Option-C

Question6:-Which of the following is correct about Pali?
(i) Line

(ii) Text

(iii) Language of Prakrit family

(iv) Alanguage of Magadha

A:-Only (i & iv)

B:-Only (ii & iii)

C:-Only (iii & iv)

D:-All the above (i, ii, iii & iv)
Correct Answer:- Option-D

Question7:-Which of the following is correct about Ajanta Caves?
(i) Rock-cut caves

(ii) Second century BC to Seventh century AD

(iii) Paintings and Sculptures

(iv) Caves are of two types, Vihara and Chaitya

A:-Only (i)

B:-Only (ii & iii)

C:-Only (iii & iv)

D:-All the above (i, ii, iii & iv)
Correct Answer:- Option-D

Question8:-D.S. Kotthari Commission was appointed by the Central Government



under which Prime Minister?
(i) Indira Gandhi

(ii) Lal Bahadur Sasthri

(iii) Jawaharlal nehru

(iv) Dr. Manmohan Singh

A:-Only (i)

B:-Only (ii)

C:-Only (iii)

D:-None of the above
Correct Answer:- Option-B

Question9:-Niyander Valley is located in which of the following :
(i) Germany

(i1) Africa

(iii) China

(iv) India
A:-Only (i)
B:-Only (ii)
C:-Only (iii)

D:-All the above (i, ii, iii & iv)
Correct Answer:- Option-A

Questionl10:-In the history of Modern Olympics, 33rd inauguration was held at
which of the following :

(i) Japan

(ii) Jamaikka

(iii) Greece

(iv) Paris
A:-Only (i)
B:-Only (ii)
C:-Only (iii)
D:-Only (iv)

Correct Answer:- Option-D

Questionll:-Sambad Kaumudi is the newspaper was associated with whom of the
following :

(i) Chandra Kumar Tagore

(i) Rammohun Roy

(iii) Shibchandra Sarkar

(iv) Ravindranath Tagore

A:-Only (i)

B:-Only (ii)

C:-Only (iii)

D:-Only (iv)

Correct Answer:- Option-B



Question12:-Who has been hailed as "the Father of Modern Kerala Renaissance'?
(i) Sri Narayana Guru

(i) Swami Vagbhatananda

(iii) Brahmananda Sivayogi

(iv) Vaikunta Swami

A:-Only (i)

B:-Only (ii)

C:-Only (iii)

D:-Only (iv)

Correct Answer:- Option-A

Question13:-Which of the following is correct about Chattampi Swamikal?
(i) Born in Nair family at Kannanmula

(ii) Worked in close cooperation with Sri Narayana Guru

(iii) Revolted against existing social order

(iv) Gave a social bias and a practical turn to Hindu religious reform movement in
Kerala

A:-Only (i)

B:-Only (ii)

C:-Only (i & ii)

D:-All the above (i, ii, iii & iv)
Correct Answer:- Option-D

Question14:-Who is known as the father of Modern Indian Political Thinking?
(i) Mahatma Gandhi

(ii) Ishwara Chandra Vidhyasagar

(iii) Jawaharlal Nehru

(iv) Rammohun Roy

A:-Only (i)

B:-Only (iv)

C:-Only (iii)

D:-Only (ii)

Correct Answer:- Option-B

Question15:-Which of the following were called for a struggle for Swaraj?
(i) Bepin Pal's New India

(ii) Aurobindo Ghosh's Bande Mataram

(iii) Brahmobandhab Upadhya's Sandhya

(iv) Barindrakumar Ghosh and groups' Yugantar

A:-Only (i & iv)

B:-Only (ii & iii)

C:-Only (i & iii)

D:-All the above (i, ii, iii & iv)
Correct Answer:- Option-D



Questionl6:-us eraraatien eranTaniléams erereu?
A:-cTaimamtlVL_BISTS Lied
B:-sais Sl L5555 (evavg)) cTamanms555 cUanFWMGSLILL L el
C:-aTaTent 5555, 6TeDENWIDHM
D:-cuenmumissLiuL L
Correct Answer:- Option-A

Questionl7:-swm=5 eremm FmyLilen QUIHENSHUITET FTTLISD 6T6E?

A:-[-17]
B:--mm
C:{5"1]
D:-r

Correct Answer:- Option-D
Questionl18:-£.=z

A:-vz

B:-L

C:-z.2

D:-2vz

Correct Answer:- Option-B
Question19:-n e WL hedDLILIL LTS @\(H&EGLEUNG fm=2% eremm &miLen
GUEITLIL_LD

A:-(0, 0) @ sw&ErTE @) (HEGLD

B:-(0, 0) audlwimgs Qlacbgyid

C:-(-1, 1) asflurs QFeogid

D:-y <&@ s0&fTns @m0

Correct Answer:- Option-A

Question20:-v== ereym cueneTallem X = 4 a1 FTIG]
A:-2
B:-4
C:-0.25
D:-2.5



Correct Answer:- Option-C
Question21:-ri. .= 61 WSl eremen?

A:-co

B:i-—

C:-0

D:-—

Correct Answer:- Option-B

Question22:-= g& Csrar ¢ Snbs @eL Clelafludier miL f euamrumssiiLhiSng.
f D@ =eremm Ljematiufled (pasl(h IIILSET @)(HHSTE

A: -f!(5g)>0
B: -f!(£0)<0

C:-7"(zg)=0
D:-/(=0)=0  Sjebevgl <o ereorm Leretluded s CoumuBSsLiLiLmg)
Correct Answer:- Option-D

Question23:-f ereirp gmiy [a, bl-@lev Qgrfsdlwuns @ mbsred, [a, bl-@Qe ~ger Frmed

1L eTeomenT?

A: '7f(z)dx

a
b
C:'ﬁ/f(x)dx
a

D:'(b—a)Zf(:c)d,x

Correct Answer:- Option-C
Question24:-19emeumeusmeudiled 6Tgl Heummeng)?

A;-logba:@

B:-log,1=0

C:-log,a"=rlog,a

D:-log,0=1

Correct Answer:- Option-D
Question25:-;§no(1+z)%:

A:-e

B:-0

C:-1



D:-
Correct Answer:- Option-A

Question26:-7l+ljdx:

A:-2r
B:-n
C:-3
D:-tan-1s

Correct Answer:- Option-B

Question27:-v=vi—z2 e cUaETCHT(HLD X &F&HD, Y WSFTMme ST X = 0 Hmid X =
2 yFlueainpred s(HruBhssuul L ugdluder LpliLerey

A:-r

B:-2x

C:-an

D:-4r

Correct Answer:- Option-A

Question28:-iss2+oy2=144 eratTy Hemeul L gdlem Galwiid

A:-(+7,0)

B:-(0,£7)

C:-(30)

D:-(0.+9)

Correct Answer:- Option-B
Question29:-e10205.--0. ereoTLIg), @ LOHMID b @enL_Cwi 2 ater N sl (H& Fyrerl erarmmey,
2;%:

A:-atb

B:-at

Ci-eit

D:-n(a+b)

Correct Answer:- Option-D

Question30:-2,%-; ereim Bareul L gder wHmID Z-5=1 eTenn i LiFeuamerellen
QUL L eNle&&ET LTI cTETSHETTS @) (HbSTeD 52=

A:-

B:-1

C:-192



D:-144
Correct Answer:- Option-C
Question31:-AM, GM wpmitb HM @enL Cuiwirer QgmiLy
A-aM<GM<HM
Bi-am>cum>aM
Ci-aM=cM=HM
D:-AM<GM>HM

Correct Answer:- Option-B
Question32:-erg sflwimeng)?

A:-2 g (H&srmafl - 3 Qe blena = 1ps(h

B:-2 sl (D&srnafl - ps®h = 3 QenLbleanen

C:-3 @anLflened - 2 gl (H&srmafl = s

D:-@evLflevaw = 2 gl (H&grmadl - 3 s

Correct Answer:- Option-C

Question33:-rmumiq 6T Gemrsn =
A:- 35 <100
B:-£2
C:-Yepgnee
D:-s&
Correct Answer:- Option-A
Question34:-pge N Quie eragaflen ellevss auisss grmad (variance)

«_nln-1)
A:-nind

B - n(n+1)

2

C : _n(n+1)6(2n+1)
D:-zi
Correct Answer:- Option-D
Question35:-51, 52, 53,...., 67 eranm erewrsatian Sl alewssLd
A:-24
B:-2vs
C:-ve
D:-288

Correct Answer:- Option-A



Question36:-A ererp g7 ewfludled 42=1 erammmed, A erariLi(heug
A:-smete] ewtl (Involutory matrix)
B:-géimen(hd @, iemfl
C:-GQawemnm

D:-i00@ el

Correct Answer:- Option-A
Question37:-s#0 GTIMTEL il

A:-1

B:-zizl

C:-&

D:-x

Correct Answer:- Option-C

Question38:-A g LsmiEsg et erammme el (heuamelDhled 6T 2 TenLoLIcE?
Ai-4T— a7
B:-lal=+1

C:-47 Qemi@gssreng,

D:-A s0&87 <y@Lb
Correct Answer:- Option-D

Question39:-v @ Satluflern e Hasmen e epeold WHMLD #=[4 2] erafled m=
A:-r
B:-m
C:-m2
D:-gs
Correct Answer:- Option-B
Question40:-g g bliler Lmend arei() = GTemmmeDd, isinz=
A:-cosz
B:-%0coss
C:-gcosz
D:—coss

Correct Answer:- Option-C



Q uestion41: -~y=tan"lztsec-lztcot lztcosecls GFGO'TD ) %; =

'A-_l—:c2

1422

B:-HL
Ci-n
D:-0

Correct Answer:- Option-D

Question42:-pged 15 Quic erewrgatien sl (H& Fymarl
A:-16
B:-120
C:-240
D:-8
Correct Answer:- Option-D
Question43:-14i+#+#5+... e sl (hg srens
A:i-202
B:-2
Ci-»
D:-3%
Correct Answer:- Option-A
Question44:-4:4+% . 6 sl (HSEsTans
A:-log2
B:-2e
C:-3e
D:-loge
Correct Answer:- Option-C
Question45:-19emeumeuareudmled org) Fflwimeng)?
Ai-ftan-lz=—L;
B:-Lsinr=coss
C:-fcosho=—sinhzs
D:-fcosc=sinzs
Correct Answer:- Option-B
Question46:-1-1+1-1+....=
A:-log,2

B:-loge



C:-log,2
D:-e

Correct Answer:- Option-C

QueSti0n47 i-y=1sinz+ysinz+Vsinz+... GFGDTD meL Z—i =

. 1
A-'z«/m
B:-cossc

C:-55

D:-cosz(2y-1)

Correct Answer:- Option-C
Question48:- lim (sins)*™

A:-1

B:-0

C:-e

D:-2

Correct Answer:- Option-A
Question49:-iize §@ 2=a
A-gm BEssamiq L @HenUILT(H Siebe
B:-ep(p B&&&Fn1q W e(manoliLIm(h
C:-@erdluenwing emenoliLim(h
D:-Lsouwid
Correct Answer:- Option-B
Question50:-s ererm gmyller e g (pole) :=a erafled
A~ 02— aumHLEUITE)
B:-i@ e Hlenavuwimen erevor

C:i-z—a qu(mDLCUITG |i)|—eo
D:-j@<o

Correct Answer:- Option-C

Question51:-2=a eretug) o e Spwgdlen d (pole of order)



C:-3
D:-4

Correct Answer:- Option-C

Question52:-;71j &@ »=o

GTGUTLIG)
A:-gatlanwlin(hgsluLl L SSHwmeudlu emenoliuim(h
B:-saflenniL(ssiinng oigdwmeudlu emenioliim(h

C:-ysedlwiid

D:-B&sdagm1q W emenoliLim(

Correct Answer:- Option-B
Question53:-sjaugrailLsater eflewsdsatean (ppanwnear Sl seler gl (HS0sTans
GMDHSULFOTE @ (HEHs Geuear(hLd cTaTmTeD, eTEH6n jlqLiLienl _uled ellevsamevd &eurL_Hlw
Couer(hid?

A:-gal (h&agnaf

B:-qps(h

C:-@eL lenev

D:-genailgenguwimen L

Correct Answer:- Option-C
Question54:-sjaugneflliLsatler allovsagatian eufssnsaflen gl (hsbsrans
GDOHSLILFTE @)(H&s Ceuam(HLd eTemmmed, eTHem iig iUl eflevsameand serLdlw
Gouar(pb?

A:-AM

B:-GM
C:-HM

D:-genaflgenguwimen Sl
Correct Answer:- Option-A

Question55:-g&épmen aNHCwmgEsSHed

A:-gal_ (H&arrafl = Qe flevew = s



B:-gal(h&sqmafl < @enLBlene < 1ps(
Ci-aml (&armsfl > @eLBlaned > 1p&H

D:-gnl(h&&pmafl > @enLflane < 1psH

Correct Answer:- Option-A
Question56:-X eranLig) e Hlwmunrer LusamL eiFliLRbCurg Qupliul L eTarsamard
G&D&S g eremmmed, X @eim erdlumyLiLy (#(x)

A:-
B:-]

C:-21

D:-7

Correct Answer:- Option-B
Question57:-5Geramig s aFlCwrgsHer £, S| ereren?

A:-<3

B:->3

C:-3

D:-0

Correct Answer:- Option-C
Question58:-perE GSSILLL L mL gt @)MmHg 6 ALl r(H&sUUBHE D).
9BS DL el aCL(H ADDF oL AEUSDETEN HlHLSH6| cTETET?

A-4

Correct Answer:- Option-A
Question59:-@y) ererrm SHpps GenLCeuafludied ep(m Erpm wmdl x Ge Hlspss6]
@e_Geuafluden BergdmE eldlsrssmrons @ mbsme, x eThsL LiFeuamell eruhmdlng)?
A:-umiigment
B:-@uwevbleney
C:-rrmmiiLy

D:-Qsrjéflwner euangufler Ermer e9BGLITSLD



Correct Answer:- Option-D
Question60:-em ErHm Ml X erg N wHMID P 6aTey(HSEET ClaTeRTL @) (HL&GSL
ureuewelt WerummlenTed, X @6 eNevdEs cufdbad Frmgifl

A:-rq

B:-np

C:-npa

D:-na

Correct Answer:- Option-C
Question61:-19emeumeusmeupiledr @uicoLimen eSBCWTSESSHed erg FRlwnmens,?
A-gal_ (h&erras = @evLBleve = 1ps(h
B:-sal (isnsf]l < @e_Hlava < &0
C:-@rl el enioul S(HEuTBISGET LSSl m@HLD

D:-gnl(h&&pmasl > @enflane > 1psH
Correct Answer:- Option-A

Question62:-uglGermm LSEEIGMmTS CETETL LIOCHTEITLD THSENET PLPENED
AL L Bisemersd Gl memwT(heTearg)?

A:-55

B:-110

C:-44

D:-11

Correct Answer:- Option-C

Question63:-ruw=(})" s=1234. ererm aNBHCwnsSSler (ps () eTemen?
A:-4
B:-3
C:-2
D:-1
Correct Answer:- Option-D

Question64:-rmmLiLy Lreuaden cllewdserey Wplid&Ew sy
A:-n(g+pe?)

B . '(IH‘QEt)n

C:'(q—i-'pet)n



D:-nptget

Correct Answer:- Option-C

Question65:-n>1 GTEIMMED 1+3+5+...+(2n-1)=

A;-nlod
B =n2
C:-no+)

2

D:-n(n+1)
Correct Answer:- Option-B

Question66:-1312343%4. ... 4n3=

B - n(n+1)

2
«_nn+l
C:-ret)
D:'nz(nJrl)z

Correct Answer:- Option-A

Question67:-n>1  GTGIMT 1+s+z2 ... o014 =
AL
B:-L
C:-2
D:-
Correct Answer:- Option-B

|)_A
(A

Question68:-z/5z  @leb 41 Qe FEMOSL?

A:-[1]
B:-[2]
C:-[3]
D:-[4]

Correct Answer:- Option-D
Question69:-e(m sersSled el meuareumdled eTgl Seummeng)?
A:-Lshedlll eU@GLILITETSET @)e0emeD
B:-usailu eu@Liunensanarsd ©lsmer(herers
C:-uflrHmn eUEETWIDMELD

D:-ysadluib s eelbleimm 2 miriLb 6(hH @G G0

Correct Answer:- Option-B



Question70:-z /152 @ev [2] @etr Slyoid (order) erewmen?
A:-4
B:-2
C:-1
D:-3

Correct Answer:- Option-A

Question71:-/@=u+iv @ LIGPEDEF SMIL| eTafled v=c1, v=c1 erenn euanerCam(hgetl e
FMUGY SfeTeyadarien OlLI(HEEMLIGET

A:-1

B:-

C:-6

D:-2

Correct Answer:- Option-B
Question72:-a ereirm epowiliLerefl HmID I <y Fd GlETewT(heTeT e(h eul L D C eTerfled “‘T
eTeualeTe ?

A:-2n

B:-m

C:-2mi

D:-%

Correct Answer:- Option-C

Question73:-(=-1v+3)=(23) GTETMTE

A-x=3,y=0
Bi-x=2,x=3
Cx=3,y=2
Dix=2,y=0

Correct Answer:- Option-A
Question74:-Yemeu(meuaieudiled 6rg) red GGTLFaSlwimen FmyL?

A:-U(h&smiy

B:-@MuiL_(h& smiy

C:-8UQULH W eTemT &Ly

D:-5&8lm (p(p eremr EmiLy



Correct Answer:- Option-A
Question75:-sin 4 ereucueTay?

A:-l

B:-v

C:-4

D:-%

Correct Answer:- Option-C
Question76:-e1g seumreng)?

A-2cos25-1=cos2z

B i=1—cos2z =2sin’z

tanr—tany

C:-tan(x+9):m

_ cotzcoty-1
— coty+cotz

D:'cot(:c—i-y)

Correct Answer:- Option-C

Question77:-1, 2, 3, 4, 5 womib 6 YW eramsaiicy QHHS TESSMEN PG @&
@\l GTETSEET 6T(LPSETLD?

A:-108

B:-36

C:-18

D:-20

Correct Answer:- Option-A

Question78:-0<r<n GTeMTEL P, GTEUGLETE?

. !
A' -r![:—rl!
. !

B it
-n%
r
D : “nltn—r)!

Correct Answer:- Option-B

Question79:-(;2.2)* allfleunsssSled THSMaT 2 MILIL|SHET 2 6TeTen ?
A:-8
B:-6
C:-4
D:-5
Correct Answer:- Option-D

Question80:-i+i+i+k+.....=7



A:-l

B:-1
C:-2
D:-4

Correct Answer:- Option-B

Question81:-X &fles goemum(p)

A-x =0
B:-x =1
C-y=1
D:-y =0

Correct Answer:- Option-D

Question82:-ss2+2552=225 erety Bemeul L gdlem Qaeucusasdler (latus rectum) Berid ereomen?
A:-9
B:-25
C:-¢
D:-3

Correct Answer:- Option-C

Question83:-yseflwibd enwwiliyerefluimge|d, <prb 1 erame|b Clamer(HheTer eh eul L Lb -
eTeutled [Z%dz:

A:-0

B:-2m

C:-1

D:-%

Correct Answer:- Option-A
Question84:-r+, _,,(352+25-5)=

A:-12

B:-11

C:-16

D:--1

Correct Answer:- Option-B
Question85:-ju =sinz erefléd 10 61 LI

A:--1

B:-0

C:-1



D:-=}

Correct Answer:- Option-C
1
Question86:- [(1-5+5-5+.. Jeraz=
0

A:-e

B:-c1

Ci—

D:-1

Correct Answer:- Option-D

Question87:-[H(g_i)?]%:[%]% U SS0& (LY FLOETUML I 6T Lilg LoHMID euflens ereime?
A:-(2,1)
B:-(2, 3)
C:-(2, 4)
D:-(4, 2)

Correct Answer:- Option-D

Question88:-e(m senggTsdled FCHenD @\reant(h cpeneadl L nhisEhsE QentGul o rer
Camewrd?

A:-cos1(%)

B:-3

C:-sin'(})

D:-cos1(})

Correct Answer:- Option-A

Question89:-c¢' @enau (I AFLITeUmeTISS 6 HMID DG @)enewTiiLdler
Il L el ev&a &6 crasile
A:'eZ—i—(e')Z:l
B:-t+i=1
Ciever=1
D:-Gt+p=1
Correct Answer:- Option-D
Question90:-e( GeusLj F @rLyrCLagere (irrotational) erefléd
A:'VF:O
B:-v2F=0
C:'VXFZO

D:-vF+o



Correct Answer:- Option-C

Question91:-ep(m HaLIL| 6TewT Z eTemg) |:-11=l:—| 6T Blubgsenen QUDD(HHSTD, Z-G) 6

Blwnliurens
A-qul L b
B:-Lpeuenarwind
C:-(1, 0) wpmid (0, 1) ereorp Leratlsailen Glamb @sg FOLSSHD

D:-(1, 0) wmmid (0, 1) erertm evwwiliLeTeflsamerd ClemaTL UL L mHig6T
Correct Answer:- Option-C
Question92:-2, 3 womib 4 ySHlwienel X, y wHmID Z S&ssater Ceul (HhsgienT(haars
@m&E SarsSlen Fwerm(h
A:-6x + 3y + 4z =12
B:-2x + 3y + 4z =12
C-3x+4y + 62=12
D:-6x + 4y + 3z =12
Correct Answer:- Option-D
Question93:-Yemaumeuareudmled 6rgl FFlLMaTsO? (Debe0gI) Seummeng)?
A:-a5=al5lcoss
Bi-as=ta
C:-axp=bxa
D:-jaP=a2

Correct Answer:- Option-C

Question94:-% _y—cos:  GTETD FLOGTLITL Lq 60T 6(HBISInaTEE@HD SHryemn]
Ai-e
B:-e-
C:-s
D:--=

Correct Answer:- Option-A

3

Question95:-/xzdx

A:-5
B:-19

27

"3



Correct Answer:- Option-D
Question96:-'Ub(Hse" erarm Geuelium® eThs CrrEssSH DTS 2 6Teng)?
A:-lenemeumdHmeb
B:-Lyflge
C:-uweum(
D:-u@luumie]
Correct Answer:- Option-B

Question97:-spgienrum_aler GeucuGeum allgeumigetiey Cafss LTS 6Tg)?
A:-eflounsid
B:-epenersgovenal

C:-fuwCurdwib

D:-=1fle|msge

Correct Answer:- Option-D
Question98:-'L_mevL_atr llermen’ seuwr(hLlq ST Wy

A:-8 61551 GamibL

B:-GQaneerr LmfdHanieuL

C:-Qu@pgidlen eren. LierpLd

D:-5r&Cmh

Correct Answer:- Option-B
Question99:-gBHmgsamer sHMe ClFwedum g FHUbBSHeuSHSTar ClLmmSSLomen
A GPDD

A:-@LOBMmG EWIDTETS)

B:-<pHliflwiy enowiomreng

Ci-5([Sg LDWILDTETS)

D:-Qsmleomi b FmybHs



Correct Answer:- Option-A

Question100:-saflgd ojdlefweder rrent erammid, cransatsd saflgsHen Frewfl eremmd

Ga ey
A:-lgrgren
B:-Guaen
Ci-weor
D:-&mon

Correct Answer:- Option-D



